Division with Integers

Name: Score:

Solve the integer division problems

(-115) + (-5) = 400 + (-8) = (-268) + (-4) =
120 + (-4) = (-125)+ 5= 123 + (-3) =
(-168) + 4= 105 + (-5) = (-110) + (-5) =
(-126) = (-2) = (-165)+ 5= (-217) = (-7) =
(-210) = (-5) = (-480) + (-15) = (-312) = 8 =
(-153)+3 = (-920) + (-20) = (-301) = (-7) =
(-330) = 15 = (-256) + 4 = (-220) = 10 =
900 + (-12) = (-180) + (-12) = (-175) + (-5) =
(-136) + 8 = 159 + (-3) = (-126) =3 =
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Answers

Solve the integer division problems

(-115) + (-5) = 23

120+ (-4) = -30

(-168) +4=  -42

(-126) = (2) = 63

(-210) = (-5)= 42

(-153)+3= -51

(-330)+ 15= -22

900 = (-12) = -75

(-136) ~ 8= -17

400 + (-8) =

(-125)+ 5=

105 + (-5) =

(-165)+ 5=

(-480) + (-15) =

(-920) + (-20) =

(-256) + 4 =

(-180) = (-12) =

159+ (-3) =

-50

-25

-21

-33

32

46

64

15

-53

(-268) ~ (-4)= 67

123+ (-3)= -41

(-110) = (-5)= 22

(2217) = (-7)= 31

(-312)+8= -39

(-301) = (-7)= 43

(-:220) = 10= -22
(-175) = (-5)= 35

(-126)+3=  -42



